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QUESTION 1

Given the following requirements: 

Create a table named TESTTAB, which has an identity column named ACTIVITYNO. Define the identity column to
generate the values for the column by default. Start the values at 10 and increment by 10. Make the identity column
unique. 

Which of the following CREATE statements will successfully create this table? 

A. CREATE TABLE TESTTAB (ACTIVITYNO SMALLINT NOT NULL GENERATED ALWAYS AS IDENTITY (START
WITH 10 INCREMENT BY 10), ACTKWD CHAR(6) NOT NULL, ACTDESC VARCHAR(20) NOT NULL,
UNIQUE(ACTIVITYNO)) 

B. CREATE TABLE TESTTAB (ACTIVITYNO SMALLINT NOT NULL GENERATED ALWAYS AS IDENTITY (START
WITH 1 INCREMENT BY 10), ACTKWD CHAR(6) NOT NULL, ACTDESC VARCHAR(20) NOT NULL,
UNIQUE(ACTNO)) 

C. CREATE TABLE TESTTAB (ACTIVITYNO SMALLINT NOT NULL GENERATED BY DEFAULT AS IDENTITY
(START WITH 10 INCREMENT BY 1), ACTKWD CHAR(6) NOT NULL, ACTDESC VARCHAR(20) NOT NULL,
UNIQUE(ACTIVITYNO)) 

D. CREATE TABLE TESTTAB (ACTIVITYNO SMALLINT NOT NULL GENERATED BY DEFAULT AS IDENTITY
(START WITH 10 INCREMENT BY 10), ACTKWD CHAR(6) NOT NULL, ACTDESC VARCHAR(20) NOT NULL,
UNIQUE(ACTIVITYNO)) 

Correct Answer: D 

 

 

QUESTION 2

What is the purpose of the Design Advisor? 

A. To analyze workloads and make recommendations for indexes and MQTs 

B. To present a graphical representation of a data access plan and recommend design changes that will improve
performance 

C. To replicate data between a DB2 database and another relational database 

D. To configure clients so they can access databases stored on remote servers 

Correct Answer: A  

 

QUESTION 3

The following SQL statements were executed in sequence: 

CREATE DISTINCT TYPE salary AS decimal(7,2) WITH COMPARISONS; CREATE TABLE staffsalary(empid INT,
empsalary salary); INSERT INTO staffsalary VALUES (10, 50000), (20, 50000.00); UPDATE staffsalary SET empsalary
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= 60000 What is the current content of the staffsalary table? 

A. ID | EMPSALARY ----------------- 10 | 60000 20 | 50000.00 ----------------

B. ID | EMPSALARY ----------------- 10 | 50000.00 20 | 50000.00 ----------------

C. ID | EMPSALARY ----------------- 10 | 60000.00 20 | 60000.00 ----------------

D. ID | EMPSALARY ----------------- 10 | 60000.00 20 | 50000.00 ----------------

Correct Answer: C 

 

 

QUESTION 4

Which of the following is an accurate statement about packages? 

A. Packages provide a logical grouping of database objects. 

B. Packages contain control structures that are considered the bound form for SQL statements 

C. Packages describe the objects in a DB2 database and their relationship to each other 

D. Packages may be used during query optimization to improve the performance for a subset of SELECT queries 

Correct Answer: B 

 

 

QUESTION 5

Which of the following products must be installed on an AIX server in order to build an application for AIX that will
access a DB2 for z/OS database? 

A. DB2Enterprise Server Edition 

B. DB2 Personal Developer\\'s Edition 

C. DB2 Universal Developer\\'s Edition 

D. DB2 Universal DatabaseEnterprise Edition and DB2 Connect Enterprise Edition 

Correct Answer: C  
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